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IMPORTANT

Distribution into the training (+), invisible training (-), calibration (#), and validation (*) sets is done via the first symbol in
each line of the input file. Table S1 contains the first split for gamma secretase inhibitors. Table S2 contains the first split for
substances with blood brain barrier permeation (logBB).
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Table S1. The ID and SMILES used to represent 233 gamma-secretase inhibitors which are potential agents for treatment Alz-
heimer’s disease together with their binding affinity.

-CHEMBL370107
+CHEMBL370729
-CHEMBL191195
+CHEMBL191246
-CHEMBL191301
#CHEMBL191302
#CHEMBL191887
#CHEMBL192356
+CHEMBL192393
-CHEMBL193111
-CHEMBL194820
#CHEMBL195105
#CHEMBL195200
+CHEMBL363802
*CHEMBL364042
#CHEMBL366006
*CHEMBL366022
-CHEMBL425566
+CHEMBL209384
+CHEMBL209739
+CHEMBL211428
+CHEMBL211955
+CHEMBL212926
-CHEMBL213231
#CHEMBL213557
+CHEMBL213628
+CHEMBL213729
+CHEMBL214301
+CHEMBL214405
-CHEMBL373983
-CHEMBL378664
#CHEMBL378971
-CHEMBL379428
#CHEMBL384963
#CHEMBL385166
*CHEMBL386866
*CHEMBL387000
-CHEMBL425063
#CHEMBL180209
-CHEMBL183326
#CHEMBL183777
+CHEMBL179060
-CHEMBL179519
*CHEMBL179524
-CHEMBL179982
+CHEMBL180062
#CHEMBL180118
*CHEMBL180132
-CHEMBL180326
*CHEMBL180384
-CHEMBL180784
-CHEMBL181213
*CHEMBL181306
-CHEMBL181519
*CHEMBL182327
#CHEMBL182349
-CHEMBL182416
-CHEMBL182463
-CHEMBL182487
-CHEMBL182638
-CHEMBL182833
-CHEMBL183043
*CHEMBL183137
-CHEMBL183351
-CHEMBL183449
+CHEMBL183549
*CHEMBL183558
*CHEMBL183585
+CHEMBL183654
-CHEMBL183724
+CHEMBL183764
-CHEMBL183774
#CHEMBL359693
*CHEMBL360069
#CHEMBL360119
#CHEMBL360239
#CHEMBL360679
-CHEMBL361143
-CHEMBL361408
#CHEMBL362216
#CHEMBL362644

OC1CCC (CC1) (clcc (F)ccclF) S (=0) (=0)clccc(Cl)ccl 6.700
Fclcecce (F)c(cl)Cl (CC2CCC(C2)C1l) S (=0) (=0)clccc(Cl)ccl 7.280
Clclccc(ccl)S(=0) (=0)Cl(CCCCCl)clcecececl 6.340

FclccceeclCl (CCCCCL)S (=0) (=0)clcece(Cl)ccl 7.260
CC(C)N(clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 6.770

C[C@H] (CO)N(clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 7.570
CC(C)C(clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 7.150
CC(CCO)C(clcc (F)ccclF)S(=0) (=0)clccc(Cl)ccl 7.460
COC(=0)C(C)C(clcc(F)ccclF)S(=0) (=0)clccc (Cl)ccl 6.600
CC(CO)C(clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 6.520
Fclccc (F)c (CS(=0) (=0)c2ccc (Cl)cec2)cl 5.360

CC(clcc (F)ccclF)S(=0) (=0)clccc (Cl)ccl 5.610

Fclccece(cl)C1 (CCCCCL)S (=0) (=0)clccec(Cl)cecl 6.600

Fclccc (F)c(cl)Cl (CCCCCLl) S (=0) (=0)clcccecl 7.010

CN (clcc (F)ccclF)S(=0) (=0)clccc (Cl)ccl 5.720

COC (=0) C1CC(CCC1=0) (clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 6.980
Fclcece (F)c(cl)Cl (CCC(=0)CC1Ll)S(=0) (=0)clccc(Cl)ccl 7.660

Fclccc (F)c(cl)Cl (CCCCCLl)S(=0) (=0)clccc(Cl)ccl 8.520

CC (N (clccceel) S(=0) (=0)clccc (Br)ccl)clecececececlOCCCNLICCCCL 5.720
CC (N (clcc (F)ccclF)S(=0) (=0)clccc(Cl)ccl)clecececececlOCCCNICCCCCL

CC (N (clccceel)S(=0) (=0)clcccecel)cleccececclOCCCNICCCCL 6.160

CC (N (clccceelC (=0)clcececececel) S (=0) (=0)clccc(Cl)cel)clececceclOCCCNICCCCL
CC (N (clccc(ccl)C(=0)clcceecl)S (=0) (=0)clcce(Cl)ccl)clceececclOCCCNICCCCL
CC (N (clccceecl)S(=0) (=0)clccc (Cl)ccl)cleccecceclOCCCNICCCCL 8.000

5.680

(= )
CC (N (clccc (Cl)ccl)S(=0) (=0)clccc (Cl)ccl)cleccececclOCCCNICCCCL 5.890
CC (N (clcc(F)ccclF)S(=0) (=0)clccc (Cl)ccl)clecceccclOCCCNICCOCCL 5.360
CC (N (clcc (F)ccclF)S(=0) (=0)clccc (Cl)ccl)cleccecececlOCCCNLICCCCL 5.700
CC (N (clccceel) S(=0) (=0)clccc(Cl)ccl)cleecc (cclOCCCNICCCCL)C (=0)clceceecl
CC (N (clcccc(Cl)cl)S(=0) (=0)clccc (Cl)ccl)cleccececclOCCCNICCCCL 6.280
CC (N (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl)clccec(cclOCCCNLICCCCL)C (=0)clcecceecel

CC (N (clcccec(cl)C(=0)clccceel)S (=0) (=0)clccec(Cl)cecl)clececececlOCCCNICCCCL

COclccc(ccl)N(C(C)clccececclOCCCNICCCCL) S(=0) (=0)clccc(Cl)ccl 5.960
CCN (CC)CCCOclccceclC(C)N (clcc(F)ccclF) S (=0) (=0)clccc (Cl)ccl 6.000
CC (N (clccceel)S(=0) (=0)clccc (F)ccl)clececceclOCCCNICCCCL 6.460

CC (N (clccceel)S(=0) (=0)clccc (ccl)C(F) (F)F)clcceccclOCCCNICCCCL 6.400
COclccececclN(C(C)cleccececclOCCCNICCCCL) S(=0) (=0)clccc (Cl)ccl 6.330
CC (N (clcceceeclCl) S (=0) (=0)clccc (Cl)ccl)clecceccclOCCCNICCCCL 6.310
COclcccc (cl)N(C(C)clcceccclOCCCNICCCCL) S(=0) (=0)clcecc(Cl)ccl 6.280
Clclcce(sl) S (=0) (=0)NC1C2CCC1lCclcce (/C=C/CN3CCOCC3) ccclC2 6.970
0=S (=0) (NC1C2CCClCclccccceclC2)clcececl 6.720

Clclccc(sl)S (=0) (=0)NC1C2CCClCclccececclC2 7.210

CN1CCN (C/C=C/c2ccc3CC4CCC (Cc3c2) C4NS (=0) (=0) c2ccc (Cl)s2)CCl 7.410
Clclcecc(sl)S (=0) (=0)NC1C2CCClCclcc (/C=C/Cn3ccnc3)cecclC2 7.820
OC1CCN (CCOc2ccc3CC4CCC (Cc3c2)C4ANS (=0) (=0)c2ccc (Cl)s2)Cl 6.680
CC1CCCCN1CCOclccc2CC3CCC (Cec2cl)C3NS (=0) (=0)clcecec (Cl) sl 6.640

5.920

5.490

4.770

6.890

5.520

Clclccc(sl)S (=0) (=0)NC1C2CCClCclce (/C=C/CN3CCN (CC3)c3ccecee3) cececlC2 7.680
CC1CCCN1CCOclcec2CC3CCC(Ce2cl) C3NS (=0) (=0)clccc(Cl) sl 6.470
Clclccc(ccl)S(=0) (=0)NClC2CCClCclccececlC2 6.330

OC1CCN (CCOc2ccc3CC4ACCC (Ce3c2) C4ANS (=0) (=0)c2ccc (Cl)s2)CCl 6.210
Clclcce(sl) S (=0) (=0)NC1C2CCC1lCclcce (NC (=0)CN3CCCCC3)ccecllC2 8.220
Clclccc(sl)S (=0) (=0)NC1C2CCC1lCclcc (NC(=0)0Cc3ccececel) ceclC2 7.640
Fclcccc(cl)S (=0) (=0)NC1C2CCClCclcccececclC2 6.490

Clclcce(sl) S (=0) (=0)NC1C2CCClCclc(Cl)cececelC2 6.760

CN (CC (=0)Nclccc2CC3CCC (Cc2cl)C3NS (=0) (=0)clccec(Cl)sl)Cclceccecl 6.650
Fclcccc2CC3CCC (Ccl2)C3NS (=0) (=0)clcecc(Cl)sl 7.470

CCN (CC)CC (=0)Nclccc2CC3CCC (Cc2cl)C3NS (=0) (=0)clcec (Cl) sl 7.390
Fclccc (ccl)S (=0) (=0)NC1C2CCClCclccececlC2 6.890

0=C (Nclccc2CC3CCC (Cc2cl)C3NS (=0) (=0)clccecececl)OCclececcecl 7.130
Clclccc(sl)S (=0) (=0)NC1C2CCClCclcc (NC(=0)CNCc3cccecel3)ceclC2 5.460
CCCCS (=0) (=0)NC1lC2CCClCclccceclC2 6.210

Clclccc2CC3CCC (Cc2cl)C3NS(=0) (=0)clccec(Cl) sl 6.840

Clclccc (COC (=0)Nc2ccec3CC4CCC (Cec3c2)C4ANS (=0) (=0)c2cccec2) ccl 7.800
ClclccececclCOC (=0)Ncleccc2CC3CCC (Cc2cl)C3NS (=0) (=0)clcccecl 6.820
Clclccc(sl)S (=0) (=0)NC1C2CCClCclcc (NC(=0)CN3CCN(CC3) c3cceceel)ceclC2 8.300
Fclccc2CC3CCC(Cc2cl)C3NS (=0) (=0) clcecececl 7.150

CC (C)CCCC(=0)Nclccec2CC3CCC (Cc2cl)C3NS (=0) (=0) clccececl 6.270
Clclcce(sl) S (=0) (=0)NC1C2CCC1Cclcce (NC(=0)CN3CCCC3) ccclC2 8.150

0=C (Nclccc2CC3CCC(Cc2cl)C3NS (=0) (=0)clccceccl)clecececenl 7.120

0=S (=0) (NC1C2CCClCclccccclC2)clceesl 7.300

FclcccecelS (=0) (=0)NC1C2CCClCclcecececlC2 6.620

Clclccc(sl)S (=0) (=0)NCIC2CCCIlCclcc (NC(=0)c3ccecen3)cceclC2 7.920
Clclcce(sl)S(=0) (=0)NC1C2CCClCclcc (NC(=0)CN3CCOCC3)ccclC2 8.150
Clclcce(sl) S (=0) (=0)NC1C2CCC1Cclce (OCCN3CCCCC3)ceclC2 7.140
Clclcce(sl) S (=0) (=0)NC1C2CCC1lCclcc (/C=C/CN3CCCCC3) ccclC2 6.820
Clclcccece (COC (=0) Nc2ccec3CC4ACCC (Cec3c2) CANS (=0) (=0) c2ccecce2)cl 6.390
CCCS (=0) (=0) NC1C2CCClCclcceeelC2 6.140

Cclccc (cecl)S (=0) (=0)NC1C2CCCIlCclcceeclC2 6.190

Nclcecc2CC3CCC (Cc2cl) C3NS (=0) (=0) clcceecel 5.220

COclccc2CC3CCC (Cc2cl)C3NS (=0) (=0)clcecec(Cl) sl 6.310
Fclccc2CC3CCC(Cc2cl)C3NS (=0) (=0)clccc(Cl)sl 7.540

CN1CCN (CC (=0)Nc2ccc3CC4ACCC (Ce3c2) C4ANS (=0) (=0) c2ccc (Cl) s2)CCl 7.160



e
=
=
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#CHEMBL369557 Clclccc(sl) S (=0) (=0)NC1C2CCC1lCclcc (OCCN3CCOCC3) ceclC2 8.300

*CHEMBL427509 Oclccc2CC3CCC(Cc2cl)C3NS (=0) (=0)clcecc(Cl)sl 6.570

#CHEMBL51505 CN1C(=0) [CRR@H] (NC (=0)C(Cc2ccc (Cl)c(Cl)c2)c2cecncc2)N=C (c2ccccec2)c2ececel2 6.110
—-CHEMBL52685 CC(C)C(Cclccc(Cl)c(Cl)cl)C(=0)N[C@QRH]1N=C (c2ccccc?2)c2cececcc2N(C)Cl=0 6.470

—-CHEMBL130093 C[CQQH] (Cclccc (F)c (F)cl)C(=0)NCIN=C (c2ccc(cc2)C(=0)N)c2ccccc2N(C)Cl=0 9.310

#CHEMBL132670 C[CQRQRH] (Cclccc (F)c(F)cl)C(=0)N[CRQRH]1N=C (c2ccc3C (=0)CCCc3c2)c2ccececec2N(C)Cl=0 8.660
—-CHEMBL132900 C[CRQH] (Cclccc (F)c(F)cl)C(=0)N[C@QRH] 1N=C (c2ccc3C(=0)N(C)CCc3c2)c2ccccec2N(C)C1l=0 5.720
#CHEMBL133235 C[CR@QRH] (Cclccc (F)c(F)cl)C(=0)N[CRRH]1N=C (c2ccc30C(F) (F)0c3c2)c2cccecec2N (C)C1l=0 7.550
-CHEMBL133237 C[CQQH] (Cclccc (F)c(F)cl)C(=0)N[C@QRH] 1N=C (c2ccc3c (=0)ccoc3c2)c2ccccc2N(C)Cl=0 8.920
*CHEMBL133746 C[CQ@H] (Cclccc(F)c(F)cl)C(=0)N[C@QRH]1N=C (c2ccc30C0c3c2)c2ccccc2N(C)Cl=0 7.880
-CHEMBL133820 C[CQQH] (Cclccc (F)c(F)cl)C(=0)N[C@QRH] 1IN=C (c2ccc3C (=0)NCCc3c2)c2ccccc2N(C)Cl=0 9.520
+CHEMBL133857 C[C@@H] (Cclccc(F)c(F)cl)C(=0)N[CQRRH]1N=C (c2ccc3c (0)nccc3c2)c2cccecc2N (C)Cl=0 9.700
*CHEMBL134124 C[CRQH] (Cclccc (F)c(F)cl)C( O)N[C@@H]lN C (c2ccc30C0c3c2) c2cececce2N (CC(=0)N(C)C)C1l=0 8.260
+CHEMBL263980 CNIC (=0) C(NC (=0) CCc2ccc (F)cc2)N: (chcc(ch)C(:O) )yc2cccecl2 6.960

#CHEMBL291322 CN1C (=0)C(NC (=0)CCc2ccc (F)c(F)c ) C (c2ccc(cc2)C(=0)N)c2ccececcl? 7.540

*CHEMBL292693 CNI1C (=0) C (NC (=0) CCc2cc (F)cc (F) c2)N=C (c2ccc (cc2)C (=0)N) c2cccccl?2 6.960

*CHEMBL297723 CNIC (=0) C (NC (=0) CCc2cccc (C )c2Cl)N:C(CZCcc(c02)C(: )N) c2cccccl?2 7.660

—-CHEMBL298360 CN1C (=0)C(NC (=0) CCc2ccc (C) cc2)N=C(c2ccc(cc2)C(=0)N)c2ccceccl? 6.740

+CHEMBL298549 CNI1C (=0) [CQ@H] (NC(=0)C(Cc2ccc(Cl)c(Cl)c2)c2ccsc2)N=C (c2ccccc2)c2cceccl2 7.000
*CHEMBL299078 CNI1C (=0)C (NC (=0)CCc2cc (Cl)cc (Cl)c2)N=C (c2ccc (cc2)C (=0)N)c2ccecececl? 7.400

*CHEMBL299403 CNI1C (=0) C(NC (=0) CCc2c (Cl)cccc2Cl)N=C (c2ccc (cc2)C (=0)N) c2ccecececl?2 5.490

—-CHEMBL299976 COclccccclCCC(=0)NCIN=C (c2ccc(cc2)C(=0)N)c2ccccec2N(C)Cl=0 5.290

*CHEMBL300420 CN1C (=0) [CQE@H] (NC(=0) [CEH] (Cc2ccc(Cl)c(Cl)c2)NC(=0)0C(C) (C)C)N=C (c2ccccc2)c2cccccl2 6.120
—-CHEMBL300590 CNI1C (=0)C(NC (=0) CCc2cccc (0)c2)N=C (c2ccc(cc2)C(=0)N)c2ccececel? 5.170

*CHEMBL301084 C[C@@H] (Cclccc(Cl)cclCl)C(=0)N[C@QRH]1IN=C (c2ccccc?2)c2cceccc2N(C)Cl=0 6.090

#CHEMBL301521 COclccc (CCC(=0)NC2N=C (c3ccc(cc3)C(=0)N)c3cccece3N(C)C2=0)ccl 5.870

+CHEMBL306273 CN1C (=0) [CR@H] (NC (=0) [CQRH] (C(0O)c2ccc(Cl)c(Cl)c2)c2ccc(F)cc2)N=C(c2ccccc?)c2eecceccl2 8.920
+CHEMBL306536 CO[C@Q@H] ([C@H] (C)C(=0)N[C@@H]1N=C (c2ccccc?2)c2ccccc2N(C)Cl=0)clccc(Cl)c(Cl)cl 7.230
+CHEMBL307208 C[C@@H] ([CQH] (OCC(=0)N)clccc(Cl)c(Cl)cl)C(=0)N[C@Q@H]1N=C (c2ccccc?)c2cceccc2N(C)Cl=0 5.320
+CHEMBL307243 CC[C@H] ([CQ@H] (C (=0)N[CREQH]1N=C(c2ccccc2)c2ccccc2N(C)Cl=0)clccc(F)ccl)clececc(F)c(F)cl 6.670
*CHEMBL307445 C[CRE@H] ([CQH] (OC (=0)N) clccc(Cl)c(Cl)cl)C(=0)N[CR@H]1N=C(c2ccccc2)c2ccccc2N(C)Cl=0 5.610
*CHEMBL307843 C[C@H] ([C@E@H] (C(=0)N[C@Q@H] IN=C (c2ccccc?)c2ccccc2N(C)Cl=0)clccc (F)ccl)clecee (F)c(F)cl 8.820
*CHEMBL308095 OCC[C@H] ([CRRH] (C(=O)N[CQ@RH] 1N=C (c2ccccc?2)c2ccccc2NC1l=0)clccc(F)ccl)clcecc(F)c(F)cl 7.460
-CHEMBL311153 CN1C (=0) [C@QQH] (NC(=0) [C@H] ([CQH] (CO) c2ccc(F)c(F)c2)c2ccc (F)cc2)N=C (c2ccccec?)c2cecececcl? 10.150
*CHEMBL334594 C[CR@QH] (Cclccc (F)c(F)cl)C(=0)N[C@@H]1IN=C (c2ccc30C0c3c2)c2ccccc2N (CC(=0)N)C1l=0 7.880
#CHEMBL335184 C[CRQRH] (Cclccc (F)c(F)cl)C(=0)N[CRRH]1N=C (c2ccc30C0c3c2)c2cccece2N (CCC (=0)C)Cl=0 8.430
+CHEMBL335994 COC (=0)CN1C (=0) [C@@H] (NC (=0) [C@QRH] (C)Cc2ccc(F)c(F)c2)N=C (c2ccc30C0c3c2)c2ccceccl2 7.900
-CHEMBL336071 C[CQQH] (Cclccc (F)c (F)cl)C(=0)N[C@QRH] IN=C (c2ccc30C0c3c2)c2ccccc2NCl=0 8.740

+CHEMBL336813 C[C@@H] (Cclccc(F)c(F)cl)C(=0)N[CQR@H]1N=C (c2ccc30C0c3c2)c2cccecc2N (CCO)C1l=0 9.050
-CHEMBL337670 C[CQH] (Cclccc(F)c(F)cl)C(=0)N[CRRH]1IN=C (c2ccc3NC (=0)CCc3c2)c2ccccc2N(C)Cl=0 7.000
+CHEMBL341256 CNC (=0)CN1C (=0) [C@@H] (NC (=0) [CQQ@H] (C)Cc2ccc (F)c(F)c2)N=C (c2ccc30C0c3c2)c2ccececcl2 8.740
-CHEMBL341257 C[CQH] (Cclccc(F)c(F)cl)C(=0)N[C@@H]1N=C (c2ccc30CC0Oc3c2)c2cccecc2N (C)Cl=0 8.330
+CHEMBL416116 COclcccce (CCC (=0)NC2N=C (c3ccc (cc3)C (=0)N) c3ccccec3N(C)C2=0)cl 5.800

#CHEMBL416121 CC(Cclccc(Cl)cclCl)C (=0)NCIN=C (c2ccc(cc2)C (=0)N)c2cceccec2N(C)Cl=0 8.100

-CHEMBL418090 CN1C (=0) [CQRQQH] (NC (= )[C@H](Cc2ccc(F)c( )c2)c2ccc (F)cc2)N= C(c2ccccc2)c2ccccc12 8.420
-CHEMBL420563 CN1C (=0) [C@QH] (NC (=0) [C@H] ([CQH] (C=C)c2ccc (F)c(F)c2)c2ccc(F)cc2)N=C(c2ccccc2)c2ccececl2 7.000
—-CHEMBL421310 CN1C (=0) [CQRQH] (NC (= )[C@H]([C@H](CBr)c2ccc(F)c( )c2)chcc(F)ch)N:C(chccch)c2cccccl2 8.170
*CHEMBL423533 C[C@E@H] (Cclccc (F)c (F)cl)C(=0)N[C@QRH] 1N=C (c2ccc3C (=0)CCc3c2)c2ccccec2N(C)C1l=0 8.440
*CHEMBL51698 CNI1C (=0)C (NC (=0)CCc2ccc (Cl)cc2)N=C (c2ccc(cc2)C(=0)N)c2ccceccl? 7.820

#CHEMBL51699 CN1C (=0)C (NC (=0)CCc2cccc (C )c2) N=C (c2ccc(cc2)C(=0)N)c2ccececl? 7.030

+CHEMBL51809 CNI1C (=0)C (NC (=0)CCCc2ccccc2)N=C (c2ccc (cc2)C (=0)N) c2cccccl2 5.300

*CHEMBL52078 CNI1C (=0)C (NC (=0)CCc2ccc (C )cc2Cl)N:C(chcc(ch)C(:O)N)CZCCCCCIZ 7.480

—-CHEMBL52512 CNI1C(=0)C (NC(=0)CCc2ccc(Cl)c(Cl)c2)N=C(c2ccc(cc2)C(=0)N)c2ccececel? 7.920

—-CHEMBL52950 CNI1C(=0)C(NC(=0)C(C) (C )Cchcc( 1) cc2Cl)N=C(c2ccc(cc2)C(=0)N)c2ccceccl?2 6.400

#CHEMBL53095 CN1C (=0)C (NC(=0)CCc2ccccc2)N=C(c2ccc(cc2)C(=0)N)c2cccecl2 6.470

+CHEMBL53177 C[CR@H] (Cclccc(F)c(F)cl)C(= ) [CRRH] 1IN=C (c2ccccc?2) c2ceccecc2N (C)Cl=0 6.660

+CHEMBL53198 CN1C (=0) [C@QRH] (NC (=0) C(Cc2ccc(Cl)c(Cl)c2)c2cccs?)N=C(c2ccccec?)c2ceececl? 7.430

+CHEMBL53371 CN1C (=0)C (NC(=0)/C=C/c2ccc(Cl)cc2Cl)N=C (c2ccc (cc2)C (=0)N)c2cccccl2 5.330

+CHEMBL53381 CN1C (=0) [C@RQRH] (NC (=0)C(Cc2ccc(Cl)c(Cl)c2)c2csc(C) [nH]2)N=C (c2ccccc2)c2ceccccl2 6.190
*CHEMBL53383 CN1C (=0) [C@@H] (NC (= )[C@H](Cc2ccc(Cl)c(Cl)cZ)chcc(Br)ch)N:C(c2ccccc2)c2ccccc12 7.000
+CHEMBL53419 CNI1IC (=0)C (NC (=0)CCc2ccccc2Cl)N=C(c2ccc(cc2)C(=0)N)c2ccceccl? 6.520

+CHEMBL53928 CN1C (=0)C (NC (=0)CCc2cc(C )ccc2Cl)N:C(c2ccc(cc2)C(:O)N)CZCCCCCIZ 7.220

—-CHEMBL54673 CN1C(=0)C (NC(=0)CCc2cc(cc(c2)C(F) (F)F)C(F) (F)F)N=C (c2ccc(cc2)C(=0)N)c2cccccl2 6.400
-CHEMBL72016 CN1C(=0) [C@@H] (NC(=0) [CQE@H] ([CQRQH] (O) c2ccc(F)c(F)c2)c2ccc (F)cc2)N=C (c2ccccc2)c2cececccl? 8.020
#CHEMBL72138 CN1C(=0) [CR@H] (NC (=0) [CQH] (C(0)c2ccc(F)c(F)c2)c2ccc (F)cc2)N=C (c2ccccc2)c2ccececl2 9.100
#CHEMBL73347 CC(C(=0)N[C@RH]1IN=C (c2ccccc2)c2cecccc2N(C)Cl=0)C(=0)clccc(Cl)c(Cl)cl 6.030

-CHEMBL73362 C[C@QH] ([C@H] (OS(=0) (=0)N)clccc(Cl)c(Cl)cl)C(=0)N[C@QRH]1N=C (c2ccccc2)c2ccccc2N(C)Cl=0 6.350
-CHEMBL73484 CC(C(=0)N[CQRH]IN=C (c2ccccc2)c2ccccc2N(C)C1l=0)/C(=N\0)/clccc(Cl)c(Cl)cl 7.460

+CHEMBL73841 CC(C(CO)clccc (F)c(F)cl)C(=0O)N[C@Q@H]1IN=C (c2ccccc?)c2cceccc2N(C)Cl=0 8.160

#CHEMBL74566 OC[CQ@H] ([CR@H] (C(=0O)N[CRQRH]1CN (c2ccccc2)c2ceccce2NCl=0)clccec (F)ccl)clcece (F)c(F)cl 10.150
*CHEMBL74568 CN1C (=0) [C@Q@H] (NC (=0) [C@QQH] ([CRRH] (O)c2ccc(Cl)c(Cl)c2)c2ccc (F)cc2)N=C (c2ccccc2)c2cceecl2 7.170
+CHEMBL75375 OC[C@H] ([CQQRH] (C(=0)N[C@QH] IN=C (c2ccccc?2) c2ccccc2NC1l=0)clccc(F)ccl)clccc(F)c(F)cl 10.220
#CHEMBL115852 CC (C)NI1N(C)C (=0) C(NC (=0) [CQH] (C)NC (=0) Cc2cccc (F) c2)c2cccecc2Cl=0 7.240

—-CHEMBL117056 C[CQH] (NC(=0)Cclcc (F)cc(F)cl)C(=0)NC1IN=C (c2ccccc2)c2ccccc2N(C)Cl=0 6.680

-CHEMBL117978 C[C@H] (NC(=0)Cclcc (F)cc(F)cl)C(=0)NC1C (=0)N(C)N(C)C(=0)c2cccccl2 8.300

#CHEMBL118450 CC (C)NI1IN(C)C (=0)C(NC (=0) [CQH] (C)NC (=0) Cc2cc (F) cc (F)c2)c2ccccc2Cl=0 7.330

#CHEMBL118469 CC (C)C[CRH] (NC(=0)Cclcc(F)cc(F)cl)C(=0)NCIC(=0)N(C)N(C(C)C)C(=0)c2ccceccl2 7.430
#CHEMBL119657 CC (C)NI1N (C)C (=0) C(NC (=0) [CQH] (C)NC (=0) Cc2occc2) c2ccccc2Cl=0 7.070

*CHEMBL119731 CC(C) [CQH] (NC(=0)Cclcc (F)cc(F)cl)C(=0)NC1C(=0)N(C)N(C(C)C)C(=0)c2cccccl2 6.720
+CHEMBL332885 CC (C)NI1N (C)C (=0) C(NC (=0) [CQH] (C)NC (=0) Cc2cocc2)c2ccccc2Cl=0 7.420

*CHEMBL333710 CC(C)NIN(C)C (=0)C(NC(=0) [CQH] (C)NC (=0) Cc2ccsc2)c2ccccc2Cl=0 7.850

-CHEMBL406322 CC(C)C[C@H] (NC (=0)Cclcecscl)C (=0)NC1C(=0)N(C)N(C(C)C)C(=0)c2cccccl?2 8.400

—-CHEMBL421236 C[CQH] (NC(=0)Cclcc (F)cc(F)cl)C(=0)NC1C(=0)N(C)c2ccccc2c2ceccceccl? 7.120

1570-159X/18 $58.00+.00 ©2018 Bentham Science Publishers
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-CHEMBL431679 CC(C)NIN(C)C (=0)C(NC(=0) [CQH] (C)NC (=0) [CQE@H] (0O)c2cc(F)cc(F)c2)c2ccccc2Cl=0 8.300
#CHEMBL194680 CCCNS (=0) (=0)NC1[C@H]2CC[CQ@H]1CclcccecclC2 6.880

+CHEMBL193527 FC(F) (F)CNIC[CQ]2(NS1(=0)=0) [CRH]1CC[C@H]2Cc2ccc (/C=C/CN3CCCCC3) cc2Cl 6.600
+CHEMBL194084 CCI1CCN (C/C=C/c2ccc3C[CRRH]4CCC (Cc3c2) [CR]I24CN(CC(F) (F)F)S(=0) (=0)N2)CC1 7.740
-CHEMBL194328 CNI1CCN(C/C=C/c2ccc3C[CRQRH]4CCC (Cc3c2) [CR]24CN(CC(F) (F)F)S(=0) (=0)N2)CC1=0 7.680
-CHEMBL194422 FC(F) (F)N1C[C@]2 (NS1 (=0)=0) [C@H]1CC[CQ@H]2Cc2ccccc2Cl 7.770

-CHEMBL194788 Clclccc(sl)S(=0) (=0O)N[C@H]1[CQ@H]2CC[CRH]1Cclcce (/C=C/CN3CCOCC3)cclC2 9.000
+CHEMBL194887 FC(F) (F)NS (=0) (=0)NC1[CEH]2CC[C@H]1CclcccceclC2 6.870

*CHEMBL195551 CC (=0) N1CCN(C/C=C/c2ccc3C[CRRH]4CCC(Cc3c2) [CRI24CN (CC(F) (F)F)S(=0) (=0)N2)CC1l 8.400
+CHEMBL196153 CCNS (=0) (=0)NC1[C@H]2CC[C@H]1CclccccclC2 6.400

-CHEMBL196192 CCN1C[C@]2 (NS1(=0)=0) [C@H]1CC[CQ@H]2Cc2ccccc2Cl 6.370

+CHEMBL196215 FC(F) (F)CN1C[CQ]2(NS1(=0)=0) [CRH]1CC[C@H]2Cc2ccc (/C=C/CN3CCC (CC3)C(F) (F)F)cc2Cl 9.300
*CHEMBL196523 CCCNIC[C@]2(NS1(=0)=0) [C@RH]1CC[CRH]2Cc2ccc (/C=C/CN3CCOCC3)cc2Cl 7.720
*CHEMBL196795 CCCN1C[C@]2(NS1(=0)=0) [CEH]1CC[CEH]2Cc2ccccc2Cl 6.860

+CHEMBL198301 CCCN1C[CQ]2(NS1(=0)=0) [CRH]1CC[C@H]2Cc2ccc (/C=C/CN3CCC (CC3)C(F) (F)F)cc2Cl 8.700
-CHEMBL198302 FC (F) (F)CN1C[C@]2(NS1(=0)=0) [C@H]1CC[CRH]2Cc2ccc (/C=C/CN3CCOCC3)cc2Cl 8.470
+CHEMBL198761 CCCCN1C[C@]2 (NS1 (=0)=0) [C@H]1CC[CQ@H]2Cc2ccccc2Cl 6.910

#CHEMBL365186 CCCCNS (=0) (=0)NC1[C@H]2CC[C@H]1CclcccecelC2 6.120

*CHEMBL210178 COC (=0)N1CC=CC (=0) ClCclcccccl 5.070

-CHEMBL211945 CO[C@H]1[C@H] (CC=CC1=0)0Cclcccccl 4.520

#CHEMBL212055 CO[C@H]1CC=CC(=0) [C@@H]1OCclcccccl 5.070

—-CHEMBL212569 0=C(0OCclcccccl)N1CC=CC (=0)ClCclcccecel 5.220

+CHEMBL212678 CO[C@H]1CCCC (=0) [CRRH]10Cclcccccl 5.030

#CHEMBL377810 OC1C=CC (=0)C (Cc2ccccc2)NIC (=0)0Cclcceccl 6.220

-CHEMBL378672 0=C1C=CC[C@QH] (OCc2ccccc2) [C@H]10Cclcccecel 5.870

*CHEMBL379434 0=C(N1CC=CC(=0)ClCclcccccl)clcceceel 5.800

*CHEMBL379714 0=C1C=CCN(ClCclccccecl) S(=0) (=0)clcccecl 5.040

+CHEMBL199570 NC (=0) O[C@H]1CC[C@] (CC1) (clcc (F)ccclF)S(=0) (=0)clccc(Cl)ccl 8.720

*CHEMBL199912 CN(C)S (=0) (=0)C[C@H]1CC[CR] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 8.960
-CHEMBL200176 Fclccc(F)c(cl) [CE]1(CC[CREH] (CN2C(=0)CCC2=0)CC1) S (=0) (=0)clccc(Cl)ccl 9.000
#CHEMBL200190 Fclccc (F)c(cl) [CR]I1(CC[CR@H] (CC1)NS (=0) (=0)clcccenl)S (=0) (=0)clccc(Cl)ccl 9.180
#CHEMBL200502 CNC (=0)OC[CQ@H]1CC[CR] (CC1) (clcc (F)ccclF)S(=0) (=0)clccc (Cl)ccl 9.290
+CHEMBL200503 CC (=0)NC[CQ@H]1CC[CR] (CC1l) (clcc (F)ccclF)S(=0) (=0)clccc(Cl)ccl 8.890

*CHEMBL200594 NC[C@H]1CC[C@] (CC1l) (clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 6.830

+CHEMBL200664 CS (=0) (=0)N[C@H]1CC[C@] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 8.380
+CHEMBL200741 COC(=0)NC[CQ@H]1CC[CQ] (CC1l) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 8.660
#CHEMBL200761 Fclccc (F)c(cl) [C@]I1(CC[CRRH] (CI)CC1)S(=0) (=0)clccc(Cl)ccl 7.840

+CHEMBL200790 Fclccc (F)c(cl) [C@Q]1(CC[CREH] (CS(=0) (=0)C2CC2)CC1l)S (=0) (=0)clccc(Cl)ccl 8.850
-CHEMBL200864 NS (=0) (=0) C[C@H]1CC[C@] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 8.380
*CHEMBL200905 Fclccc (F)c(cl) [CE]1(CC[CEH] (CC1)NS (=0) (=0)clccecsl) S (=0) (=0)clccc(Cl)ccl 9.600
+CHEMBL200912 Fclccc (F)c(cl) [C@]1(CC[CRE@H] (CS(=0) (=0)N2CCC2)CC1)S(=0) (=0)clccc(Cl)ccl 9.440
#CHEMBL200913 O[C@H]1CC[CRQ] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 7.970

+CHEMBL200928 COclccceclS (=0) (=0)C[C@H]1CC[C@] (CC1) (clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 9.290
-CHEMBL371754 CCCS (=0) (=O)N[C@H]1CC[C@] (CC1l) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.090
+CHEMBL372085 Fclccc (F)c(cl) [CQ]1(CC[CRH] (CC1)NS (=0) (=0)NICCC1)S (=0) (=0)clccc(Cl)ccl 9.820
-CHEMBL372142 N[CE@H]1CC[CR] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc (Cl)ccl 6. 290

#CHEMBL372156 CC (=0)N[C@H]1CC[CQ] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)c 7.460

-CHEMBL372199 Fclccc(F)c(cl) [CE]1(CC[CEH] (CCL)NS (=0) (=0)C(F) (F)F)S (= )(— )clcecc(Cl)ccl 9.190
*CHEMBL372299 OclccccclS (=0) (=0)C[CRH]1CC[C@] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.190
-CHEMBL372828 Fclccc (F)c(cl) [C@Q]I1(CC[C@AH] (CS(=0) (=0)c2ccccn2)CCl) S(=0) (=0)clccc(Cl)ccl 8.680
-CHEMBL380608 Fclccc(F)c(cl) [CE]1(CC[CREH] (CS(=0) (=0)C(F) (F)F)CC1l)S(=0) (=0)clccc(Cl)ccl 7.670
+CHEMBL380776 CCNS (=0) (=0)NC[C@H]1CC[CQ] (CC1l) (clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 8.770
#CHEMBL380819 Fclccc (F)c(cl) [CR]I1(CC[CRRH] (CS(=0) (=0)c2cccecec?2)CCl)S(=0) (=0)clcecc(Cl)ccl 8.060
+CHEMBL382060 NC (=0)NC[CQ@H]1CC[CR] (CC1l) (clcc (F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.000

+CHEMBL383826 OC[CEH]1CC[CE] (CC1l) (clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 8.330

#CHEMBL425220 OC (=0) C[C@H]1CC[CRQ] (CC1) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 7.670

*CHEMBL207353 CCNIC[C@E@H]2C[CQ@] (CC[CRQRH]2NS1 (=0)=0) (clcc (F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.400
#CHEMBL207454 CC(C)NIC[CE@H]2C[CR@] (CC[CRE@H]2NS1 (=0)=0) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.390
#CHEMBL208089 CC(C) (C)NIC[CREGH]2C[CR] (CC[CRRH]2NS1 (=0)=0) (clcc (F)ccclF)S (=0) (=0) clcce(Cl)ccl 8.860
+CHEMBL209888 Fclccc (F)c(cl) [CQ@]1 (CCC2[CRH] (CNS (=0) (=0)N2C2CC2)C1l)S (=0) (=0)clccc(Cl)ccl 10.400
#CHEMBL210279 Fclccc (F)c(cl) [CRR]1(CC[CRRH]2NS (=0) (=0)NC[CQRQRH]2C1)S(=0) (=0)clccc(Cl)ccl 8.210
*CHEMBL210587 Fclccc(F)c(cl) [CER]1 (CC[CRE@H]2NS (=0) (=0)N(C[CQEH]2C1)C1CC1l)S (=0) (=0)clccc(Cl)ccl 9.720
*CHEMBL377264 CCCLC[C@ERH]2C[CQ] (CC[CRQRH]2CS1 (=0)=0) (clcc (F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.120
*CHEMBL377367 CCCN1C[CRQH]2C[C@] (CC[CREH]2NS1 (=0)=0) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 8.930
+CHEMBL377691 CCC1C[CRQ@H]2C[CR] (CC[C@EH]2NS1 (=0)=0) (clcc (F)ccclF)S (=0) (=0)clccc(Cl)ccl 10.220
*CHEMBL378502 Fclccc(F)c(cl) [CER]1 (CC[CREH]2NS (=0) (=0)N(C[CQEH]2C1)C1CCC1)S(=0) (=0)clccc(Cl)ccl 9.590
*CHEMBL379089 CCLC[CQRE@H]2C[CR] (CC[CREH]2NS1 (=0)=0) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 10.100
+CHEMBL384207 CNIC[CRERH]2C[CQR] (CC[CRRH]2NS1 (=0)=0) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.050
+CHEMBL427397 CCCCLC[C@@H]2C[CQ] (CC[CRQRH]2NS1 (=0)=0) (clcc(F)ccclF)S(=0) (=0)clccc(Cl)ccl 9.620
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Table S2. The ID and SMILES used to represent substances together with numerical data on blood brain barrier permeation

(logBB).
-6 [N][N] 0.030
=7 [N-]=[N+]=0 0.030
+8 [HIC([H]) ([H]) [H] 0.030
#9 cccce 0.632
*10 ccceee 0.680
-11 ccccece 0.442

*12 CCccccee 0.689
+13 Ccccceeccce 0.520
#14 ccccceecce 0.665
#15 CC(C)ccc 0.970
#16 CC(C)cCccC 0.860
#17 CC(C)cccee 0.980
-18 CcC(C)cceece 1.050
*19 CCC(C)cC 1.013
-20 cccec(e)cce 0.899
+21 CCC(C) (C)C 1.037
+22 CIlCC1l 0.110

*23 CClccccl 0.933
*24 Clcccccl 1.110
+25 Cclcccecl 0.960
-26 Clcc(Cc)c(c)ccl 1.070

-27 CcC(c1lcceecl) (C)cC 0.610
-28 clc(cyc(cycc(c)ct 1.020
*29 Clccl -0.342

-30 Clc(cl)cCl 0.151

*31 Clc(cl)cC -0.280

+32 ClCCCl -0.140

#33 CC(Cl) (Cl)Cl 0.289

-34 clc(cl)ccl -0.100

+35 C1C(Cl) (Cl)ccCl 0.330

+36 CICC(F) (F)F 0.115
*37 BrCCC 0.270

-38 CC(Br)C 0.560

#39 FC(Br)C(F) (F)F 0.267
-40 FC(F) (F)C(Cl)Br 0.142
*41 FS(F) (F) (F) (F)F 0.390

-42 C=C 0.305

+43 cl/c=C/Cl 0.040
+44 Cl/C=C\C1l -0.130
*45 Cl/C(Cl)=C(Cl)\Cl 0.370
+46 CC=C -0.060

+47 Ccccecee=C 0.740
#48 Cccccccee=C 0.860
-49 ccceecececee=c 0.960
-50 C=CC=C -0.166

-51 Clc=C(Cl)Cl 0.105
-52 ClC=C(F)F -0.020
-53 S=C=s 0.600

+54 CO 0.020

-55 CCO -0.124
*56 CCCO -0.082
-57 CCcco -0.023

*58 CCCCCO 0.203

#59 CC(C)O -0.113

+60 CC(C)CO -0.140

#61 CCC(C)CO 0.038
*62 CC(C) (C)O 0.110
*63 CCC(C) (C)O 0.070
*64 CCOCC -0.010

-65 CC(0OCC) (C)C 0.220
#66 CC(0OC) (C)C 0.360
#67 CCC(C) (C)OC 0.170

-68 COC(F) (F)C(Cl)Cl 0.119

+69 FC(F)OC(CL)C(F) (F)F 0.190
=70 FC(F)OC(F) (F)C(F)CL 0.140
-71 FCOC (C(F) (F)F)C(F) (F)F 0.300
+72 Clcol 0.010

+73 FC(F) (F)COoC=C 0.140

*74 C=COC=C 0.130

#75 CC(C)=0 -0.170

#76 CC(=0)CC -0.170

=77 CCCC(C)=0 -0.010
+78 COC(C)=0 -0.134

+79 CCOC (C)=0 0.003
+80 CC(0CCC) =0 0.120
+81 CCCCOC (C)=0 0.277
#82 CC(0OCCCCC) =0 0.400
+83 CC(C)0C(C)=0 0.399
+84 CC(C)cOoC(=0)C 0.450

1570-159X/18 $58.00+.00
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-85

#86

-87

#88

-89

*90

+91

#92

*93

#94

*95

-96

-97

+98

-99

-100
-101
#102
+103
+104
#105
+106
-107
+108
#109
*110
+111
*112
*113
+114
-115
#116
+117
+118
+119
-120
+121
+122
-124
#125
#126
-128
+129
+130
+131
-132
*133
-134
+135
#136
+137
+138
*139
+140

*142 NC

-143
+144
+145
-148
+149
+150
+151
+152
-154
-155
*156
-157
*158
*159
#160
+162
-163
-164
+165
-166
-167
+168
+170
+171
=172
-173
+174
+175
-176
+177

cc(occe(e)c) =0 0.554
Cl=CC=CC=C1l 0.198
CCl=Cc=Cc=C1l 0.271
CCl=Cc=Cc=ClC 0.410
CCl=CC(C)=cCcc=C1 0.220
CCl=Cc=C(C)c=C1 0.380
CCCl=Cc=Ccc=C1 0.260
C=CCl=CcC=CcC=C1 0.450
CC(Cl=Ccc=Cc=Cl) (C)C 0.430
CCl=CC(C)=C(C)c=C1l 0.160
FC(F) (Cl=CC=C(Cl)C=C1)F 0.170
occ#c -0.230

C=CC#N -0.400

FCCCN1C=CN=C1N (=0) =0 -0.240
FCCCCCCCCNIC (N (=0) =0)=NC=C1 -0.170

OC1=CC4=C (C3CCC (C(C(CC2C3CC4)F)0)2C)C=C1 -0.301
IC1=CC=C(N2CCN(CC2)CCCCCC)C=C1l 1.010

OCC3=NC=C4CN=C (C2=C (N34)C=CC(C1)=C2)C1l=C(F)C=CC=C1

IC1=CC=C(N2CCN(CC2)C(CC)C)C=C1l 1.380
FC1=C (C)N (C)N (C2=CC=CC=C2)C1=0 -0.050

CC3=NC=C4C (N=C (C2=C (N34)C=CC(Cl)=C2)C1l=C(F)C=CC=C1)0

IC3=C (C=C(C=C3)CN2CCCCC2)CNICCCCCl 0.980
CC2=C (C (N (N2C)C1=CC=CC=C1)=0)1TI -0.100

ICl=C C:C(C—Cl)NC(CC)C)NC(CC)C 0.640

0=C1C ) 0) ccce 0.188

0=C1C ) CCccccee 0.017
0=C1C ) CCccce 0.364

0=Cl1C )C -0.222

0=C1C ) CCcccececece 0.241
0=C1C ) CCccce 0.086
O:C1C(CC)(C(NC(N1) )CcC 0.086
O:C2N1CCCC(O)C1:NC( ) C2CCN3CCC(C4:NOC5:C4C:CC(F)
FCCC2=CC (N) =C (C=C2) SC1=CC=CC=CIN (C)C 0.548

cc
CcC)
CcC)
CcC)
CcC)
CcC)

CCIN (C3=C (C)C (C)=NC (NC4=CC=C (C=C4)F)=N3)CCC2=CC=CC=C12
CCIN (C3=C (C)C (C)=NC (NC4=CC=C (F)C=C4)=N3)CCC2=CC=CC=C12
[

CC2=CN(C ( [NH]C2=0)=0)C1CC(C(01)CO)F -0.590

[0-]/[N+] (C(C) (C)C)=C/Cl=CC=[N+] ([0-])C=C1l -0.380
CC3=NN=C4CN=C (C2=CC (C1) =CC=C2N34) C1=CC=CC=C1 0.000

CN (C2=C (N (N (C2=0) C1=CC=CC=Cl)C)C)C 0.000

CCC (C (NC(NC1=0)=0)=0) 1Cccc(C)C 0.040

CC2=CC (N (N2C) C1=CC=CC=C1) =0 -0.160

CC(NCC (CoCl=CC=C(C=Cl)CC(N)=0)0)C -0.699

CCC (C (NC (NC1=0)=0)=0) 1CC -0.137

CN4CC3C1=CC=CC (C) =C10C2=CC=CC=C2C (CC4) 30 0.820

CCN3CN (C4=CC=C (Br)C=C4) C2 (C3=0) CCN (CC2) CCCC (C1=CC=C (C=C1)

CNCCC1=NC=CC=C1 -0.300

OC (C2=CC=CC=C2) (C3CA4CC(C=C4)C3)CCNlccceel 0.845

CC(C1=CC=C(0)C=C1l) (C2=CC=C(C=C2)0)C -0.120
BrC1=CC=C (N4C3 (C(N(C) C4)=0) CCN (CC3) CCCC (C2=CC=C (F

-0.070

-0.030

=C5)CC3 -0.670

0.675
-0.260

=0)C=C1

CCCN3CN (C4=CC=C (Br) C=C4)C2 (C3=0) CCN (CC2) CCCC(C1=CC=C(C=C1)F)=0

CC(C) (OC(C1=C (C2CCCN2C (C4=C3C=CC (Br)=C4)=0)N3C=N1)=
BrC1=CC=C (N4C3 (C(NC4)=0)CCN (CC3)CCCC (C2=CC=C(C=C2)F

CCCCOC (C1=CC=C(C=C1)N)=0 0.420

CN1C=NC (N (C (N2C)=0) C)=C1C2=0 0.030

(N2C1=C (C=CC3=C2C=CC=C3)C=CC=C1)=0 0.000
CICCNC (N (N=0) CCCl1l)=0 -0.520

CC(C) (NCC (COC1=CC=CC (N2)=C1lCCC2=0)0)C -0.400

CN (CCCN2C1=C(8C3=C2C=C(Cl)C=C3)C=CC=C1)C 1.060

CN2C (CC (N (C3=C2C=CC (C1) =C3) C1=CC=CC=C1) =0)=0 0.350

C1C1=CC=CC(Cl)=C1l/N=C2NCCN\2 0.110
COC (C1C (OC (C3=CC=CC=C3) =0) CC2CCCIN2C) =0 0.600

OC1C4C2 (CCN5C) C (C5CC3=C2C (04) =C (0OC) C=C3)C=C1 -0.220

CN1C (C2=CN=CC=C2) CCC1=0 -0.348

OC1=CC=C (C3=C0OC2=C (C3=0)C=CC(0)=C2)C=Cl -0.150
CNCCCN2C1=C (CCC3=C2C=CC=C3) C=CC=C1 1.000
NCCCN1C (C=CC=C3)=C3CCC2=C1C=CC=C2 1.060

C1C3=CC (N (C(C2)=0)C1l=CC=CC=C1)=C(C=C3)NC2=0 0.360

C1C (C=CC=C1IN2)=C1C(C3=CC=CC=C3)=NCC2=0 0.500
CNCCCN1C (C=CC=C3) =C35C2=C1C=CC=C2 0.590

CN2C (CN=C (C3=C2C=CC (C1) =C3) C1=CC=CC=C1) =0 0.275

OCC1CCC (N2C=NC3=C2N=C [NH] C3=0)01 -1.300
CN (CCOC (C2=CC=CC=C2)C1l=CC=CC=C1)C 1.260

0)Cc=C1

-0.090

C1C5=CC=C4N (C ([NH]C4=C5)=0) C3CCN (CC3) CCCN1C ([NH]C2=CC=CC=C12) =

CN (CCOC (C1=CC=CC=C1) (C2=CC=CC=N2)C)C 0.640
CCoCl=CC=CC=C1C (N)=0 -0.046
CCOC (C1=CC=C(N)C=C1)=0 0.270

CCC (N (C3=CC=CC=C3)CLCCN (CCC2=CC=CC=C2)CC1)=0 0.

FC1=CC3=C (N2C=NC (C(OC (C)F)=0)=C2CN(C3=0)C)C=C1
CCOC (C1=C (CN(C(C3=C2C=CC(F)=C
CN2C (CN=C (C3=C2C=CC (N (=0) =0) =C3) C1=C (F) C=CC=C1) =0
CCOC (C1=C (CN(C(C3=C2C=CC(F)=C3)=0)CCF)N2C=N1) =0
0=N (C1=NC=CN1CC (COCF) 0) =0 -0.010

CNCCC (C2=CC=CC=C2)0C1l=CC=C (C(F) (F)F)C=C1 0.360

CC(C(CCC(CLCCC(C2C(C=C5C3CC (CCC(CCC45C)3C) (C(0)=0)C)

OC(CC) (CC (N)=0)Cl=CC=CC=C1 0.040

3)=0)C)N2C=N1) =0 -0.290
0.060
-0.140

C)2C)o0)1cC

F)=0 -0.430

0.070

Supplementary Material



Supplementary Material Current Neuropharmacology, 2018, Vol. 16, No. 6 vii

-178 CN2C (NC (C(C1=CCCCCl) (C2=0)C)=0) =0 0.073

+180 OCCOCCN1CCN (C (C3=CC=C (C=C3)Cl)C2=CC=CC=C2)CCl 0.390
+181 IC1=CC(C(CCCN4CCC2 (CC4)C(N(CN2C3=CC=CC=C3)C)=0)=0)=Cs1 -0.254
-182 I/C=C/CN1CCC (COC2=CC=C (C#N)C=C2)CC1l 1.134

-183 CC(CCl=CC=C(C(C(0)=0)C)C=Cl)C -0.180

*184 CN(CCCN2C1=C(CCC3=C2C=CC=C3)C=CC=Cl)C 0.830

-185 CC(C) (NC(CLCN (CC5=CN=CC=C5) CCN1CC (CC(C(NC3C (CC4=CC=CC=C34)0)=0) CC2=CC=CC=C2)0)=0)C -0.745
-186 COC1=CC3=C(N(C(C)=C3CC(0)=0)C (C2=CC=C (C=C2)Cl)=0)C=Cl -1.260

-188 NCI1=NC(N)=C(C2=C(C1l)C(Cl)=CC=C2)N=N1 0.480

#189 CCN (CC (NC1=C (C=CC=C1C)C)=0)CC 0.340

#190 OC3N=C (C2=CC (C1)=CC=C2NC3=0)C1l=CC=CC=C1Cl 0.440

-192 CN(CC3=CC=C (03) CSCC[NH]C1=NC(C(CC2=CN=C (C)C=C2)=C[NH]1)=0)C -1.060
#193 OCC (C(C(C(C0)0)0)0)0 -1.600

-194 OC(C2=CC(C(F) (F)F)=NC3=C2C=CC=C3C (F) (F) F) CICCCCN1 0.630

-195 CNC (CCl=CC=CC=Cl)C 0.900

+196 CCC#CC(C(C(NC(N(C1=0)C)=0)=0)1CC=C)C -0.060

#197 CNI1CCN3C (C2=CC=CC=C2CC4=CC=CC=C34)C1 0.990

-198 CC3=NC=C4CN=C (C2=C(N34)C=CC (C1l)=C2)C1l=C (F)C=CC=C1l 0.426
+201 CON1C=C (C (C3=C1C=C20C0C2=C3)=0) C(0)=0 -0.921

-202 CNICCN3C (C2=CC=CC=C2CC4=CC=CN=C34)C1 0.530

-203 OC(CN1C=CN=C1N (=0)=0) COCF -0.010

-204 0C4=C (05) C2=C (C=C4)CC3C1C=CC(0)C5C12CCN3C -0.648

-205 CN3CN (C4=CC=CC=C4)C2 (C3=0)CCN (CC2)CCCC(C1=CC=C(C=C1)F)=0 0.460
-206 CCN1C=C (C(C2=CIN=C(C)C=C2)=0)C(0)=0 -0.658

-207 CC1=CC=NC (N (C4=C3C=CC=N4)C2CC2)=C1INC3=0 0.000

#208 CN1CCCC1C2=CC=CN=C2 0.236

+209 CSC4=CC2=C(C=C4)SC1=CC=CC=CIN2CCC3CCCNC3 0.750

-210 CNICCN (C3=NC2=CC=CC=C2NC4=C3C=C (C)S4)CC1l 0.780

-211 O=CI1N (CCCCN2CCN (C3=CC (C(F) (F)F)=CC=N3)CC2)CCC1l 0.160
—-212 ClC4=CC1=C(C=C4)0C3=C (C=CC=C3)C2C1CNC2 0.390

-213 0C12C4=C(C=CC=C4)0C3=C (C=CC=C3C)C1CNCC2 0.520

+214 C=CCC (N)C (C=CC=C3)=C3C1l=N0OC2=C1C=CC=C2 0.000

-215 CNICC3C (C2=C(0C4=C3C=CC=C4)C=CC(Cl)=C2)C1 1.030

+216 OC3N=C (C2=CC(C1l)=CC=C2NC3=0)C1l=CC=CC=C1l 0.580

#218 CC(NC1=CC=C (0)C=C1l)=0 -0.340

=219 0=CIN (C(NC2=CIN (C)C=N2)=0)C 0.060

+220 OC1=CC2=C (CC3C(C)C(C)2CCN3C/C=C(C)\C)C=Cl 0.544
#222 CCCC(C(C(NC (NC1=0)=0)=0)1CC)C 0.140

+224 C12=NN=NN1CCCCC2 -0.030

4226 N1 (C2 (C3=CC=CC=C3)CCCCC2)CCCCCl 0.440
-227 CCCCCI1C (N (C3=CC=CC=C3)N (C2=CC=CC=C2)C1=0)=0  -0.520
+228 [0-1/[N+] (C(C) (C)C)=C/Cl=CC=CC=C1 0.050

+229 0=CINC (C(C2=CC=CC=C2) (C3=CC=CC=C3)N1)=0 -0.100
-231 CNC (OC3=CC=C2N (CIN(CCC(C2=C3)1C)C)C)=0 0.080

+232 CC([NH]CC (COC1=CC=CC2=C1C=C[NH]2)0)C -0.135

-234 CCC (N (C(C2=CC1=CC=CC=C1C(C3=C(Cl)C=CC=C3)=N2)=0)C)C 0.480
+235 0OC(C1=CC=C (C2=CC=CC=C2)C=C1l)=0 -1.260

+236 CCN (CCOC(C1=CC=C(C=C1l)N)=0)CC 0.050

+237 CN(CCCN2C1=CC=CC=C1SC3=CC=CC=C23)C 0.950

+239 CC(Cl=CC=CC(C(C)C)=ClO)C 0.697

-241 CC(NCC(COC2=C1C=CC=CC1=CC=C2)0)C 0.640

+242 CCCOC (C1=CC=C (N)C=C1l)=0 0.550

-243 C13=CC=CC4=C1C2=C (C=C4)C=CC=C2C=C3 0.230

#244 COC2=CC=C (C=C2)CN (C1=CC=CC=N1)CCN (C)C 0.500

+245 OC(C3C(CCAC=C)CCC4C3)C2=C1C=C (C=CC1=NC=C2)0C 0.100

+246 CCC1=CC=CC2=C1[NH]C3=C2CCOC (CC([OH])=0) 3CC -1.423

-247 CC(N=C1CCCCN12)=C (CCN3CCC (C4=NOC5=C4C=CC (F)=C5)CC3)C2=0 -0.020
-248 COC1=C(0C2CCCC2)C=C (C3CNC (C3)=0)C=C1 0.610

*249 CCCN (CCC(C=CC=CIN2)=ClCC2=0)CCC 0.250

+250 NC(SCCF)=N -0.275

+251 CC(C) (NCC (C1=CC=C(C(C0O)=C1l)0)0)C -1.300

-252 0OC(C1=CC=CC=C10)=0 -1.161

-254 CC(C) (NC(C2CCI1CCCCCICN2CC (C (NC (C(NC (C4=NC5=C (C=CC=C5)C=C4)=0) CC (N)=0)=0)CC3=CC=CC=C3)0)=0)C -1.030
+256 BrCl=CC=CN=C1CSCC[NH]C2=C (N (=0)=0)C=C[NH]2 -0.670

#257 0O=N (C1=C ([NH]CCSCC2=NC=CC=C2) [NH]C=C1)=0 -0.660

-258 0=N(C1=C([NH]CCSCC3=NC=CC=C3) [NH]C=C1CC2=CC=CC=C2)=0 -0.120

+259 [NH2]/C([NH2])=N\C1=NC (C2=CC=CC=C2)=CS1 -0.180

*260 CC1=CSC (/N=C([NH2])/[NH2])=N1 -0.040

#261 N/C (N)=N\C1=NC (C2=CC=CC (N) C2)-CSl -1.150

*262 CC([NH]C1=CC=CC (C2=CSC (/N=C (N) \N) = ) =C1)=0 -1.570

#263 C[NH]/C([NH]C1=CC (C2=CSC (/N= C( /N 2)=CC=C1l)=N/C#N -1.540

-264 CN(CC2=CC=C (02) CSCC[NH]C1=C (N (=0) = )C C[NH]1)C -1.120

#265 CN(CC3=CC=C (03)CSCC[NH]C1=C (N (=0)=0)C (CC2=CC=CC=C2)=C[NH]1)C -0.730
+266 CN(CC1=CC=C (C2=CC ([NH]C3=C (N (=0)=0)C=C[NH]3)=CC=C2)01)C -0.270
*267 CN(CC1=CC=NC (C2=CC([NH]C3=C (N (=0)=0 )C C[NH] 3)=CC=C2)=Cl)C -0.280
*268 CC([NH]CCCOC1=CC (CN2CCCCC2)=CC=Cl)= -0. 460

+269 O:C(C3:CC:CC:C3)[NH]CCCOCI:CC:CC(CN2CCCCC2) -0.240

*270 OCCCOC1=CC (CN2CCCCC2)=CC=C1 -0.020

*271 C1(NCCCOC2=CC (CN3CCCCC3)=CC=C2)=CC=CC=N1 0.690

=272 C1(NCCCOC2=CC=CC (CN3CCCCC3)=C2)=NC=CS1 0.440

+273 C(NCCCOC2=CC (CN4CCCCC4)=CC=C2) 3=NC1=C (03)C=CC=C1 0.220
+274 CCCN (CCC(C=CC (0)=CIN2)=C1lCC2=0)CCC -0.430

-275 NC(SC)=N -0.602
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#276
*277

+309
+311
-312
*313
*314
+315
*316
+317
-320
-321
+322
-324
-325
+326
-327

-328
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FC1=CC=C (C (CCCN2CCC3 (N (C4=CC=CC=C4)CNC3=0)CC2)=0)C=C1l 0.260
CC2=CN(C ([NH]C2=0)=0) C10C (C=C1)CO -0.482

CN1CCCCCICCN3C2=C (SC4=CC=C (S (C) (=0)=0)C=C34)C=CC=C2 0.180
CN (CC2=C1C=CC=CC1=CC=C2)C/C=C/C#CC(C) (C)C 0.095

CC(C) (OC(ccee1=Cce=Cc(N(ccel)ceel)ce=Cc1)=0)cC 1.000
CN1C=NC (N (C ([NH]2)=0)C)=C1lC2=0 -0.300

CN2C (N (C1=C (C2=0) NC=N1)C) =0 -0.345
CCCC(C(C(NC(NC1=0)=8)=0)1cCC)C -0.147

S=C (N2CCC (C3=CNC=N3) CC2)NClCCCCCl -0.160
CSC4=CC=C3SC1=C (N (C3=C4)CCC2CCCCN2C)C=CC=C1 0.283
CC3CC1=C(C4CCC2 (C(C34)CCC (C#C)20)C)CCC(Cl)=0 0.400
CN/C (NCCSCC1=CSC (/N=C (N) /N) =N1) =N/C#N -0.820

CC(NCC (CcocCl=CC(C)=Cc=Cl)0)C 0.280

CC3=NN=C4CN=C (C2CC (CCC2N34) Cl)Cl=CC=CC=C1Cl 0.570
CNICCN (CCCN3C2=C (SC4=C3C(C(F) (F)F)=CC=C4)C=CC=C2)CC1l 1.440
CN (CC/C=C2\C1=C (CCC3=C2C=CC=C3) C=CC=C1)C 0.890
CCcc(c(o)=0)cce -1.155

COC2=CC=C (C=C20C) CCN (CCCC (C(C)C) (C1=CC(OC)=C(0OC)C=C1l)C#N)C -0.469
0 -0.040

CN(CCCl=CC=CC=N1)C -0.060

NCCC1=NC=Csl1 -0.420

CC2=CN (C(NC2=0)=0) C1CC(C(01)CO) N=N#N -0.720

N1 (CC2=CC=CC (OCCCNC4=NC3=C (84)C=CC=C3)=C2)CCCCC1 0.140
C1C3=CC=C2NC (CN=C (C2=C3)C1=CC=CC=C1)=0 0.500

CN (C1=NC=CC (C2=NNC (N) =N2)=C1)C -1.170
BrC1=CC=CN=C1CSCCNC2=C (C=CN2) N (=0)=0 -0.670

0=N (C (C=CN2)=C2NCCSCC1=NC=CC=C1)=0 -0.660

0=N (C (C (CC3=CC=CC=C3) =CN2)=C2NCCSCC1=NC=CC=C1)=0 -0.120

N/C (N)=N/C1=NC (C2=CC=CC=C2)=CS1 -0.180
N/C (N)=N/C1=NC (C2=CC (NC (C)=0) =CC=C2)=CS1 -1.570
N/C (N)=N\C1=NC (C2=CC (N/C (NC)=N/C#N)=CC=C2)=CS1 -1.540
CN (CC1=CC=C (SCCNC2=C (C=CN2) N (=0)=0)01)C -1.120
(

CN (CC1=CC=C (SCCNC2=C (C (CC3=CC=CC=C3)=CN2)N(=0)=0)01)C -0.730
CN (CC1=CC=C (C2=CC=CC (NC3=C (C=CN3) N (=0)=0)=C2)01)C -0.270

CN (CC1=CC (C2=CC (NC3=C (C=CN3) N (=0) =0) =CC=C2) =NC=C1)C -0.280
0=C (C)NCCCOC1=CC (CN2CCCCC2) =CC=C1 -0.460

N1 (CC2=CC=CC (OCCCNC3=NC=CC=C3)=C2)CCCCC1 0.690

N1 (CC2=CC=CC (OCCCNC3=NC=CS3)=C2)CCCCC1 0.440

N1 (CC2=CC (OCCCNC4=NC3=C (04) C=CC=C3)=CC=C2)CCCCC1 0.220

CCC (NC (C2=C (C (C4=CC=CC=C4)=NC3=C2C=CC=C3) C) =0) C1=CC=CC=C1 0.300
NC (N3C1=CC=CC=C1C2CC2C4=CC=CC=C34)=0 -0.340

0=C3C1=C (N2C=NC (C4=NOC (C(C) C) =N4) =C2CN3C) C=CC=C1C1l -0.300
0=C3C1=C (N2C=NC (C4=NOC (C(C) (0)C)=N4)=C2CN3C)C=CC=C1Cl -1.340

0=C3C1=C (N2C=NC (C4=NOC (C(C) (0)CO) =N4)=C2CN3C) C=CC=C1C1l -1.820
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